& \
\
1
™ |
I
—
N ]
— /
!
/
/
/
/
/
/
7/
7
- (&
P @
-
-
M~
L
"
L
M~
N~
-
0,0

Varje vecka
Every week
Jede woche
Chaque semaine

Jedes Jahr
Chaque saison

2-12 %=\x

¢
%I Varje sdsong r
Every season =0,60m

>EN 1176
>CPSC
ANEBY, SWEDEN
NR. [Description MA ltem Number| Qty www.hags.com
1 |750x750x50 mm 14500310 | 1 Whizzer
2 |300x300x60 mm 145001 4 MASW30179
3 |M6S M10x25 mm soos371 | 4 || 1(2)
4 |@10,5x28x3 mm 326003 4 HB [S®>|LN [2020-01-30 [3




ANEBY, SWEDEN
+4650)380—
47300
www.hags.com

Whizzer

MASW30179

2(2)

HB |S=>|LN |2020-01-30 [3

8
8
4
2
2
1
4
4

2

Item Number| QTY

8008371
326003

321517

302230
8042810
8038474
8008373

321502
59248810

NR. |Description MA

1 |[M6S M10x25 mm
2 |010,5x28x3 mm

3 [M10, 50x30x8 mm
4 |M6S M10x200 mm
5 |M6M-8 FZB M10

6 |@355x2200 mm

7 |[M6S M10x30 mm
8 |M6M N.V M10

9 |500x340x240 mm




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View18
	Detail View  (1 : 3)

	Sheet2
	Drawing View8
	Detail View  (1 : 3)
	Drawing View10
	Detail View C (1 : 5)
	Drawing View17
	Detail View F (1 : 5)
	Drawing View21
	Drawing View22
	Detail View H (1 : 8)
	Detail View I (1 : 3)


